QUESTION BOOKLET

This question paper contains 170 questions. / 30 T T ® 170 TH £ |

All questions are compulsory. / 8% 937 1fFard & |

One question carries half mark only. / T 9 % foTe Soe €T 37 2 |

Maximum Marks : 85 Jfreran 31 « 85
Time : 2 Hours I : 2 90

1.  NITI Aayog is a/an
(A) Constitutional body (B) Statutory body
(C) Advisory body (D) None of these
ifer i & w
(A) w3 Frem
(C) wEi-grEt fram
2,  When can a contract be dischargediby aper:

(A) Death of a Promisor
(©) leﬁculty of pcrfo

3. n by “Quantum Meruit” ?
(B) As much as earned
(D) Restitution
3T 41 FHEIA & 7
afe (B) 3o 8 fra swumn (o 7Y O 3E)
(C) Twart (D) wexdu
4.  Insurance sector in India is regulated by
W | & & 1 Frame o wman @
(A) RBI (B) SIDBI (C) SEBI (D) IRDA
5.  Finance Commission is constituted under which article of Constitution of
India ?
forr A =1 TTaa WRE T wiawe % form =g & sTwrta fm T R 2
(A) 324 (B) 280 (C) 325 (D) 368
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10.

The process of commercialization involves the
(A) Deciding product characteristics and package
(B) Building up a appropriate marketing mix

(C) Introducing product in the market

(D) All of these

arforsfentor <t wisran & ffea 2

(A) Tt a Iearg <t fermwanatt = givaem

(B) 3w e e =1 famfor ae

(C) EER § IE F1 TN BT

(D) F&h

Devaluation signifies

(A) lowering purchasing power of money
(B) lowering internal value of rupee

(C) lowering external value of rupee

(D) lowering value of dollar

el a8
(A) w1t sh wifa wer (B) T9d % 3Tdite Yo i T
(C) 9 % STel Yoo i T (D) STeR = §5d T

Deficit financing

(A) Stabilises prices

(B) Reduces money supply

(C) Encourages inflationary tendencies

(D) Reduces budgetary deficit

|1 1 fafiam

(A) Himal o fREFER | (B) Hz1-3gfe = o a1 § |
(C) =hifa it srferdi o Meenfga T & (D) SIS ©T2 <hi Y L & |

Which of the following is a fee based service ?

(A) Venture capital (B) Factoring
ggl Bills discounting (D) Portfolio management
o @ 1 U Yeoh AYTRE 1R 2

(A) FEgdst  (B) WeMim (C) wzrdafaem (D) ORwmifer Hemie

Merchant banking service in India were started in the year
WTTd § Hefe sfehm ®ar ey < g o
(A) 1967 (B) 1975 (C) 1973 (D) 1990

Which one of the following is not a non-banking financial institution ?

e 1 8 9 o v s ferfrm geen 2 2
(A) SIDBI (B) NABARD (C) PNB (D) UTI
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12,

13.

14,

15.

16.

17.

18.

19.

20,

The mutual fund concept was started in India in the year

(A) 1949 (B) 1956 (C) 1961 (D) None of these
WA T Y316 $8 <hi /@umun 3 61 18 T

(A) 1949 (B) 1956 (C) 1961 (D) w0t q g 7T

The primary aim of leverage funds is to capital appreciation.
A) minimize (B) balance (C) maximise (D) None of these
he 1 MufrE At Ot gea-aua
(A) FAR (B) Tferawtg |
© FAE | (D) H AR

ICRA was set up in the year

%1 (ICRA) foran TR o 9

(A) 1986 (B) 1998 (C) 1991 (D) 1987

CRISIL was set up in the year

forfirer (CRISIL) weifta fama wram o o

(A) 1920 (B) plgdl (C) 198 (D) 1991

Which of the following dn;sm:_if involyefany ierest payment ?

g\‘:)I Creditcard (B) 'Debitcard () Cheek éard (D) None of these
o 4 forer ferelt st 1 Yo Hi-iee |

(A) #eeFE (B) ShewE | WRLEEEL

If quartile deviation of given set of d: J 8bscrvations is 12, then value

of standard deviationis o

Ife 20 eqon & fou Mo fordt Sor Ty U faaem 12 8, @ A fa=em

HIAA T - =

(A) 1667  (B) 18~ - 7(C) 8 D) 32

The area under normal distribution covered within p + 3s limits is

p + 3s Hi 3 Fr=mia mmrfadw & et aneta dana B
(A) 0.6827 (B) 0.9545 (C) 0.9973 (D) 1.0000

Beta equity is positively correlated with

(A) Firm growth rate (B) Operating leverage

(C) Financial leverage (D) None of these

dter 3fEadt gAToHeh 9 | Hg-Haia §

(A) fergfgqd (B) uitarerHl faat= &

(C) faig fa=® (D) ¥ 9 18 i

Depreciation is expenditure.

(A) variable (B) semi-variable (C) fixed (D) None of these
TeI8 ™ T I

(A) tfEdm  (B) ami-ufedda(C) Rr (D) 1 A+ T
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21,

22.

23.

24.

25.

26.

217.

Calculate re-order level from the following :
Safety stock : 1000 units, consumption per week : 500 units. It takes 12
weeks to reach maternial from the date of ordering.

A) 1000 units (B) 6000 units (C) 3000 units (D) 7000 units
gﬂ%ﬁ%‘agﬂ: Tt T 61 o it ; 7
Tfera =i : 1000 315a1, Ufa T8 @96 : 500 9, ACR,ER
Tt gg=A o 12 H%Tg &d § |
(A) 10003=mEal (B) 60003HA (C) 30003HA (D) 9

Determine the firm’s Total Asset Tumover (TAT) ifui
(NPM) is 5 percent, total assets are ¥ 8 million, and'rate ofi

ofit margin
st 1s 8%.

i %1 el qitamta Fsiet (TAT) fraifer | afe sl Fa e i (NPM)
5 witera, Fe1 yhemfaal T 8 wls aur A 61 8%t
(A) 1.60 (B) 2.05 (C) 2.5 (D) 4.00

Determine Break Even Point (BEP) if sales 1s $,1,00,000, variable cost is
T 50,000 and profit 1s T 20,000.
(A) 60,000 (B) %40,000 80,000 D) None of these
gfa=ee fawg (BEP) 91 Hifsr, ,00,000, «Ta ¥ 50,000

@1 = T 20,000 7 | _
(A) T60,000 (B) %40 ) 80,000 (D) 399 8 HE G
ok 1s never balanced ?

Which column of cash be
(B) Cash

(D) Petty cash
T <l STl B 2
(C) &% (D) ¥ HW

(C) COBOL (D) None of these

(B) 3w (UNIX)

(D) ¥ & i3 T

Functions of educational philosophy is

S‘A) normative (B) critical (C) speculative (D) All of these
&foreh 1 HIEF B

(A) mifea (B) Terfemat (C) HWageifea (D) dafi

Individual aim of education aims at making a child

(A) cooperative individual (B) isolated individual

gll) self-realized individual (D) follower of God
&0 1 AT T4 STeleh TAH H Higd 2 |

(A) @It =afe (B) Uit =

(C) 3renfeg =afad (D) ST TR
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28.

29,

30.

31.

32.

33.

34,

“Rising knowledge to wisdom is real education” was said by

(A) Rig Veda (B) Sama Veda
(C) Bhagvadh Geeta (D) Chhandogya Upamshad
T B 6 3R I3 (Rising knowledge to wisdom is real education)

Trfereh fIaToT & ShaT T o , ‘
(A) =weH (B) @mec# (C) wraghaid (D) S_da3IHegH

Who is the profounder of Dvaitadvaita ?
A) Madhva (B) Nimbarka (C) Vallabha (D) Gautam Buddha
T YT i 3T & ?
(A) wiE (B) frmamh (C) oo (D) MaA g

The ‘Wardha Scheme’ is also known as by which of the following schemes ?
(A) National Policy on Education (B) National Scheme on Education

(C) Kothari Commission (D) Basic Education

gui giomr %1 Frefeaiea 3 8 fem S @ ft s s g 9

(A) Foreror @ g fifer (B) ﬁmmuﬂum

(C) HISTQ T (D) 3mur e

Who said this, “The teacher is not an instructor or task master; he is a helper
and guide” ?

(A) Aurobindo Ghosh (B) Mahatma Gandhi

C) Rabindranath Tagore (D) Vivekananda
g el 6, “Riares i o v s w3 aifrr 78 8, 98 8 0

RIS 91 e 2" 7 ' ,
(A) snftem (B) werenm it (C) gy &R (D) faawre

Modem philosophy synthesises

(A) knowledge (B) truth (C) sciences (D) None of these
Fyfreh guiFeITe HYev] AT §
(A) T (B) W (C) famm (D) ¥ & hi§ e

A child is working very hard for her examination. Her behaviour is an
indicator of her

(A) sharp cognitive abilities (B) high achievement motivation
(C) very busy schedule (D) desire to impress her parents

T HTfeTehT 3191 TET o foTe WEd Thied I it @ | I STIER o5 § 36
(A) e garl Taaat w1 (B) = 3Iyeifey rfivsron 1

(C) 3Teae oI g (D) =T <y wenferd = <t 5= o

Socialization requires

(A) tecachers (B) rewards (C) reinforcement (D) All of these
T JTTagehar

(A) Trempisht (B) w&Risdl  (C) vEeR @ (D) @t i
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35.

36.

37.

38.

39.

40.

41.

42.

Participating in the removal of illiteracy is a
(A) social change (B) conscience change

C) cultural change (D) None of these
BT 1 G HA f? TEITRT B U

(A) TP Sgad (B) 311 SEeT
(C) wiepfcreh gea™ (D) T AHE T
National Policy on Education (NPE) was started in
fereor o g ifa (NPE) a1moey <6t 78 a9
(A) 1985 (B) 1986 (C) 1987 (D) 1988
Right to Education Act was passed in
e o arfirepr arfurfaem wita gan ad
(A) 2007 (B) 2008 (C) 2009 (D) 2010
A child is born with some
(A) qualities (B) ego (C) innate drives (D) All of these
T Feh S oA 8 O FTY |
(A) T (B) ¥
(C) wewma gfa (D) F&dl

What will be the 1Q of a 12 years old child, whose mental age is 9 years ?

39 12 19 T & 1Q 71 ' i qrfas 3w 9 ad 2 2

(A) 70 (B) 75 (C) 80 (D) 85

An essential aspect of all learning is

(A) emotion (B) imitation (C) motivation (D) association
uft drga o v e uee @

(A) MTET (B) IHE (C) sfisRer (D) wEEd

Children learn new words for specific objects mostly by

(A) insight (B) imitation

(C) trial and error (D) conditioning process
o= fafire fava < foru 73 wreei =i Hirad €, siftesiem :

(A) 3rmgfe g (B) ST g

(C) ww@a R gm (D) 3TEEH Wi g
Learning disabled children are

(A) low in intelligence (B) slow in activity

(C) _deficient in using potentials (D) None of these
Higa 1§ 318 92 B @

(A) T Ay (B) He HE-Famdl
(C) eFmanadi o I9am | 3rqof (D) T T FIE Tl
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43.

44,

46.

47'

48,

49,

The gland which plays a key role in the development of personality is
(A) pituitary (B) thyroid (C) adrenal (D) thymus
Sfavea @ T o & syfiren fRsm areft ufa 8

(A) fueged (B) oSS (C) ufgra (D) wTEwd

A child attitude * I don’t care’ is a type of behaviour, which can be called
(A) aggression (B) defence (C) denial (D) retrogression
TeTeh 51 T “H T & Hidl’ Ush 30 YN 1 SHAER & W1 el il 8

(A) 3HITH (B) T&TTeH (C) 3mdlor (D) 9vemH
Introspection method lacks in

(A) reliability (B) validity (C) objectivity (D) All of these
arren - Frdteron wgfa & @mh 2

(A) Tergaefaan $i (B) duar i (C) aEguhal Ht (D) 37 ft Fi

A teacher should play the role of a

(A) facilitator (B) philosopher (C) leader (D) authority
e fareres =1 siftret Frart =nfee

(A) gEEsR$l (B) et Al (C) wfimH (D) fogms i

Wood’s dispatch, an important document, was released on

e 1 foea’ - O Wyl gRirew i foar o

(A) 1850 (B) 1862 (C) 1854 (D) 1870
Education falls under which list of the Constitution of India ?

(A) Union list (B) State list

(C) Concurrent list (D) Nonc of these

ey v o wfqam 6 form g=t & omta o @ 2
(A) FagR  (B) A () wRAEH (D) FHARET
If you would be a teacher how would you like to behave with your students ?

(A) Autocratic (B) Democratic
(C) Laisscz-faire (D) As the conditions permit

afe, a1ra ues fieres gra ot 3vaw frenfia 3wy e weRR 1 STTerTor e 2
(A) WegEW  (B) SHaias  (C) 3iEaagwmi (D) R s 3Ed
Teaching professional norms are developed by

Treror s % SATEETe W] @ foenfyd fea 2
(A) NCERT (B) UGC (C) NCTE (D) CBSE
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Directions (Q. Nos. 51 to 55) : Choose the word which is Opposite in meaning to
the given word out of the four given options (A), (B), (C) and (D).

51. Deleterious
(A) delaying (B) beneficial (C) destructive (D) glorious

52. Confess

(A) grant (B) concede (C) conceal (D) acknowledge
53. Robust

(A) vigorous  (B) rough (C) feecble (D) feline
54. Specific

(A) accurate (B) vague (C) inspired (D) granted
55. Agitated

(A) superior (B) calm (C) cold (D) self-possessed

Directions (Q. Nos. 56 to 60) : Choose the word which gives the Correct
Spelling_out of the four given options (A), (B), (C) and (D).
56. (A) weight (B) weit (C) weigt (D) waight

57. (A) depriciate  (B) depreciate (C) depresiate (D) depreceate
58. (A) perjery (B) perjury (C) parjury (D) perjary

59. (A) committee (B) comittee (C) comitte (D) commettee
60. (A) recommended (B) recomended
(C) reccommended (D) recommendid

Directions (Q. Nos. 61 to 65) : Choose the most appropriate word out of the
four given options (A), (B), (C) and (D) to fill in the blanks.

61. Successis on hard work.

(A) depend (B) dependent (C) depended (D) depends
62. Ram going to the post office with Shyam.

(A) are (B) is (C) were (D) will
63. 1was delighted your success.

(A) at (B) to (C) in (D) on
64. 1 studying since morning.

(A) has been (B) has (C) am (D) have been
65. They not know me,

(A) arc (B) do (C) does (D) is
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066.

67.

08.

69.

70.

71.

72.

73.

According to Mahabharata, who founded Katoch monarchy during 1400 BC ?
(B) Susharma Chandra

(A) Shambar
(C) Divo Das

WM o HTER, foram 140()Bca=a"|rmaraamaﬁr=ﬁar@ﬁ7

(A) TR

(B) gmwi=s

Which of the following places was the capital of Jagatsukh during ancient

period ?
(A) Kuluta
Frafefas

(A) T

(B) Trigarta
T R i G WM IR § Sagd 6t Taur
(B) P

H.P. became Union Territory in the year

femmae weu fora o Ha-wnfta wem = 2 ?

(A) 1948 (B)
The driest place in H.P. is
(B) Keylong

T HITIYR @ T &
(B) e

The state located in the west of H.P. is

(A) Kalpa
(A) eyl
A) Tibet (B)
&wm%q@m
(A) faea

(A) Renuka
femmae wew

(A) T

Haryana%
(B) gfemom

The largest man-made lake in H.P. is
(B) Khayjj lar
weu | A fAffa

(B) @%nm

(C) Punjab

(C) Yo

%C) Chandratal

(C) gt

Thc river ‘Chenab’ during Vedic period was known as

g Mukteshwar ( B) Giriganga
T ST ATl 4

e | foamE a4

The Cholang peak is located in the

(A) Zanskar range

(C) Dhauladhar range
AT A1t A B
(A) TRt qeiq-Soft §
(C) tireneR T -oft &

(C) Arjikia

(B) firfoim & 7 @
(D) 78 @ F78 TE

(B) Pangi range
(D) None of these

(B) uitft weamren &
(D) T4 @ IS TE

Code No,

(D) Bhim

(C) faem (D) ¥
(C) Suket (D) Mandi

@1 ?

(C) g (D) T
(C) 1952 (D) 1956
(C) Spiti (D) Pangi
(C) faufa (D) arfi

(D) Uttar Pradesh

(D) IHHT

(D) Govind Sagar
(D) g §PR

(D) None of these

: C-488/2018/Series-A



74.

76.

77.

78.

79.

80.

81.

The *Panjpulla’ picnic resort is located near
(A) Dharamshala (B) Dalhousie (C) Nalagarh (D) Sundamagar
‘ ' Jraferd

(A) HTIaITe & gy (B) el & @iy

(C) TerTe % Tt (D) G Y

The regional centre of Indian Bureau of Standard is located at

(A) Mechatpur (B) Nalagarh  (C) Parwanoo (D) Shimla
IR HITh =0 61 g IITea 2

(A) ¥gaRd  (B) TewmgH  (C) TR H (D) fmrem s

Who laid the foundation of Rang Mahal of Chamba ?

(A) Umed Singh (B) Jorabar Singh
(C) Sahil Varman (D) Lakshaman Varman
o § Uee o1 Rrerare feem @n 2

(A) Iefie (B) S REI () wfwal3 (D) ssmadd

The battle of ‘Bhangani’ took place between Guru Gobind Singh and the
raja of

(A) Bilaspur (B) Bushahr C) Kangra (D) Jaswan

i 1 g 7% Tifer g st s T s meg gam o

(A) Fem@R® (B) TS (C) Himers (D) STHIHE®

In which year Rampur Bushahr riyasat came under the possession of British ?

fora ot o T eTeR e fafew anfbaes & aredia s 2

(A) 1815 (B) 1858 (C) 1905 (D) 1935
Who among the following did not visit Shimla in 1921 ?

(A) Bal Gangadhar Tilak (B) Lala Lajpat Rai

(C) Madan Mohan Malviya (D) Mahatma Gandhi

1921 # 7= 7 | forem Rrren srame =18 fopa & 2

(A) sTerTER foeTen (B) el SSYaUd

(C) WeA HIgd wTerdi (D) wgTeHt Mt

In which year Petterhoff was destroyed in a major fire ?

fopa od i dieteTs e siwor if@ o fame ganen 2

(A) 1978 (B) 1981 (C) 1983 (D) 1984

Who became the Chief Minister of ‘Independent Government’ set-up in
Theog in 1947 ?

(A) Devi Dass (B) Kharak Singh
(C) Dr.Y.S. Parmar (D) Surat Prakash
1947 ¥ Q37 § nfed T TR | HH GEIwE 0 91 ?
(A) i (B) @ feir

(C) @i, 99.14. IR (D) G TR
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82.

83.

84.

86.

87.

88.

89.

Gaddis are considered as the descendants of

(A) Thakurs (B) Brahmins (C) Khatris (D) None of these
Tl éz I A T 8 .

(A) I F  (B) FEvik () WEEIEF (D) PR

Kulindas were originally the people belonging to

(A) Kullu Valley (B) Kangra Valley
(C) Shimla and Sirmaur hills (D) None of these
Felerd gerd: i | Tey @R as @ o

(A) Feq (B) gl urdl

(C) Trren we faoii i gaifeat (D) % | wig TE

Sobha Singh Art Gallery is located at
(A) Na;,gar E Nurpur (C) Manali (D) Andretta

(A) Wﬁ (B) wﬁ (C) wefid (D) Iserd

The state museum of Himachal is located in the building famous as
A) Book House (B) Allersic (C) Mansion (D) None of these
&1 T GugTed form gufag yeT A 2 98 .
(A) THERE  (B) T (C) &aeh (D) H § s Tl

The first hydroelectric project in Western Himalayas was located at

(A) Mandi (B) Joginder Nagar(C) Pandoh (D) Baner
femerg d wgen xfgw Jraferd o

(A) wtH (B) Siffretam# (C) wSgH (D) &RH

Which is the largest apple growing district of H.P. ?

(A) Kinnaur (B) Kullu (C) Shimla (D) Mandi
YTl 1 ik 99 Ieres fren 8 _

(A) TR (B) P (C) fmmen (D) =&t

State Council of Education Research and Training (SCERT) is located at
(A) Shimla (B) Mandi (C) Dharamshala (D) Solan
Tararor argeaT e fam i g gieg (SCERT) :ﬂa@m%

(A) Tomen® (B) wEH (C) wmenrd (D) G H

The first Himachali honored with Padmashri was

(A) Kailash Mahajan (B) Charanjeet Singh
(C) Dr. Y.S. Parmar (D) Dr.D.S. Rana
vensfl | grnfad geen femreer andt an .

(A) ST HETeH (B) =ursia fim

(C) 3. 919,99, YR (D) 3. g.uEm. m
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90.

91.

92,

93.

9.

96.

97.

As per Census 2011, population density (person per sq. km) of H.P. is
SR 201 1 % FTET fenrae wewm o See v (saf wh it ) 2

(A) 109 (B) 116 (C) 121 (D) 123
Who is the newly elected President of Badminton Association of India ?
(A) Himanta Biswa Sarma (B) Devendra Singh
(C) Ajay Singhania (D) Anbumani Ramadoss
MRS % defifen wefteem % afraif s @ § 2
(A) fewan ferean s (B) 3= fiie
(C) v et (D) g A
Who bagged India's first medal at the 21 Commonwealth Games 2018 ?
(A) P.Gururaja (B) Mirabai Chanu
C) Virdhawal Khade (D) Srihari Nataraj

219 THVSE @ 2018 H WA 1 Yl Y2 31 R 2
(A) ®.Ewwn (B) dmaEr  (C) fdami@? (D) el v

What is the India’s rank in the 2018 Inclusive Internet Index (I11), which is
recently released by the Economist Intelligence Unit ?

(A; 24" (B) 42 (C) 41 (D) 52
Seefistd e % g w1 € 3§ oI, s sevte wed (111) 2018 3
WA F B A IHL ?

(A) 24ai (B) 42ai (C) 47af (D) 52af
Which city hosted the 2™ India — Korea Business Summit 2018 ?

A) New Delhi (B) Mumbai (C) Ahmedabad (D) Bengaluru
IR A G T -hifea ST Frter-201 8 0 Asra <61 2 9

(A) TWielt  (B) g (C) ¥EWgER (D) Tee

What is the Zero Discrimination Day Compaign for the year 2018 ?

hatnot _____ B nat never ______
C) Whatif 7" D} Whatsure _~~ 77777
a9 2018 % feru ST Sgwma e afirgm = 9
(A) T TE (B) wmrfiadi
(C) wmafy (D) FT9e (W)

The world's largest solat&fa_rk has recently launched in which state ?
A) Karnataka- (B) Odisha (C) Maharashtra (D) Gujarat

=1 T T HIT UTeh et 8 1 R U 1 T fohan T 2
(A) #AieH (B) anfem (C) HEwrg (D) T

Who has won the lifetime achievement award at the 2018 ‘Political and
Public Life Awards’ in UK ? )

fA Amitabh Bachchan B) Boman Irani

C) Jackie Shroff D) Shatrughan Sinha

1 4

A QS gfeersh % TATEH 2018 B FRe W% 2red wehiaiee
(A) WW(B) amsrh () dREw (D) I e
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98.

99.

100.

101.

102.

103.

104.

105.

The 2018 cultural festival ‘India by the Nile” held in which country ?
(A) Nigeria (B) South Sudan (C) Egypt (D) Tunisia
2018 HiEphreh ARlcas *mmﬁqéa'ﬁmgﬁmgm?

(A) TSl (B) Sfanfiggm (C) 3w (D) T

Which state government has rolled out ‘Rupashree Scheme’ for mamage of
poor girls ?
g@)' Tamil Nadu (B) Odisha (C) West Bengal (D) Assam
T FEHR A T Fdi & forae & forg wwsht g s @ 2
(A) dfemg  (B) 3nfEm (C) 9. == (D) 31E™

What is the theme of the 9% edition of Women’s Film Festival-2018 ?
(A) Learnto Live (B) Take Freedom

(C) Meet with Yourself (D) Travelling Women

Higen fhen wiast-2018 F 94 e i fin g 2

(A) ST HEl (Leam to Live)

(B) aA BISU (Take Freedom)

(C) wa # fuferm (Meet with Yourself)

(D) =k wfgen (Travelling Women)

As ‘Flower’ 1s related to ‘Petal’, in the same way *Book’ is related to

gé) Pages =~ (B) Content (C) Author (D) Library
T Y TGS A R, A e Fedlvd §

(A) 9Bid (B) fawa-swg@ (C) ou=w4d (D) YEhTeTd |

Which of the following is different from the rest ?

freaffaad s aa=ia =22
(A) 144 (B) 169 (C) 256 (D) 288

How many letters are there between 8" letter from left and 7™ letter from
right in the English alphabet ?

St ot 3 A A & e R T 7 v e e e v d 2
(A) 7 (B) 8 ©) 9 D) 11

How many meaningful English words can be formed with the third, the
fifth, the seventh and the ninth letters of the word *‘DOWNGRADED’ once
in each word ?
(A) One (B) Two (C) Three (D) More than Three
w1t “DOWNGRADED’ & W&, Uiad, diad a1 A9 3187 § Ui o foha- areigol
II&2 S0 511 T5hd &, 914 19 hig 18R Toleh I1eg 1 Sharel Ush ) & fordn st ?
(A) T (B) & (C) & (D) i & Hfees
If “WATER” is written as ‘YCVGT", then what is written as *HKTG” ?
Ife ‘WATER® %t ‘YCVGT for@r s, &t *“HK TG & 71 foran smom 2
(A) IRFE (B) FIRE (C) REFI (D) ERIF
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106.

107.

108.

109.

110.

111.

112.

Sohan ranks seventh from the top and twenty-sixth from the bottom in a
class. How many students are there in the class ?

T 1 &1 | =IH SR A Fraal a9 9 | geftaal o R | S | g e
fremedi 8 2

(A) 31 (B) 32 (C) 33 (D) 34

Pointing towards a boy Veena said, “He is the son of only son of my
grandfather.” How is that boy related to Veena ?

(A) Uncle (B) Brother (C) Cousin (D) Nephew

T T$H hl O AW H gL A1 A g, “a8 W el & §Heird I3 B I
? I 98 g 1 & ford ag B welia ® 7

(A) == (B) wrd (C) == (D) wftsn
If South-West becomes North, then what will North-East be ?

(A) North (B) South-East (C) South (D) East
afe gfiro-afam 3w R 9 8 O ST-gd S g 2

(A) I (B) cfm-gd  (C) e (D) ™

If today 1s Wednesday, then what will be the day after 84 days ?

(A) Monday (B) Tuesday (C) Wednesday (D) Sunday
e 31T guar 2 A1 84 7 =g = @ fem gom 2
(A) TWER (B) WTeHR (C) guaR (D) TEn

The age of father is thrice of his son. If the sum of their ages is 48 year,
what is the age of father ?

(A) 30 year (B) 32 year (C) 36 year (D) 40 year
ﬁmaﬁagrggaa%mgﬁ?ﬁwgﬁ%mﬁmﬁmmﬁwsaé@,aﬁﬁmaﬁ
Y FR?

(A) 309 (B) 32=d (C) 3694 (D) 4094

The chalcolithic or stone-copper phase continued upto about

(A) 800BC (B) 1000BC (C) 1200BC (D) 1400BC
1 AT -] <hied AT T&1 T

(A) 800 BC@H (B) 1000 BCT® (C) 1200 BCa® (D) 1400 BCHH

Rice cultivation is associated with the Harappan site of

(A) Kalibangan (B) Lothal (C) Kot Dij (D) Ropar
T h St ford gt T o |1y Hefud Wi a2

(A) i (B) @iud (C) ®edst (D) v
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113.

114,

115.

116.

117.

118.

119.

120.

The Rig Veda contains
A) hymns in honour of the gods
B) yajnas to be performed
C) rituals to be adopted by the people
D) history of the Vedic period

(A) 3% % g9 3§ =l

(B) Rl I &g o

(C) i & grr I % g dfa-fam

(D) fces et =1 3forgrm

The chief diety of the Sangam age was

(A) Vishnu (B) Murugan  (C) Shiva (D) Indra
TR g % Y@ o o

(A) foreg (B) H&™ ©) R (D) ¥=%

Hiuen Tsang described the state of Kamboja as
A) Nimar (B) Pava (C) Rajgriha (D) Rajpura
T 1 Fui fema
(A) PrmH®9d (B) WHEIH (C) TR FFIH(D) T H FIH

The trident — shaped symbol of Buddhism does not represent

(A) Dhamma (B) Nirvana  (C) Sangha (D) Budha
e 1 Prepe 1R w61 welten wefie 7E @

(A) v (B) fafr (C) (D) 3%

Which of the following was not a sea port in Mauryan times ?

A; Tamralipti EBg Bharukachchha
C) Suparaka D) Paithan
U R H |1 U W 6 e TR I AE T2

(A) amfafy (B) wrieh=am  (C) HTEH (D) s

Who is responsible for the development of the Indian theatre by introducing
the use of the curtain ?

(A) The Kushans(B) The Shakas (C) The Greeks (D) The Romans
) I3t gra wiets T (Ryaer) o fasrma % e i Rigr 2 2

(A) T (B) W (C) H=® (D) WA

The Samkhya system was propounded b

(A) Patanjali (B) Kapila (C) Charaka (D) Lokayata

T 2 ! W foman mn an

(A) G g (B) SRS HE (C) T Hgl (D) Tehrd & g

Harisena is the author of

EA Allahabad Prasasti EB; Eran Prasasti

C) Junagarh Prasasti D) Mehrauli Prasasti
EF B

(A) FTRTETE S % (B) vy &

(C) ETe yufe & (D) el e &
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121.

122.

123.

124.

125.

126.

127.

128.

The founder of Rashtrakuta kingdom was

(A) Amoghavarsha (B) Indralll
(C) Govinda Ill (D) Dantidurga
TP W o HEATTH &

(A) amEad (B) RN (C) mfag 1l (D) cfrgt

The Suhrawardi order was established mainly in

(A) North India (B) North — East India

(C) Western India (D) North — West India

euad] 59 Herd: Taiud fem mam o

(A) I URA H (B) S-gefism@s

(C) ufFendt wrw ® (D) IT-ufvadt yra |

Who re-introduced the Jagir system ?

(A) Razia Sultan (B) Firoz Tughlaq

(C) Alauddin Khalji (D) Giasuddin Balban

AR S o g %@ﬁ! ] femm 2

(A) T geam A (B) TR reteh 3

(C) TS Wersit A (D) frmge™ soe A

Who defeated Humayun at the battle of Chausa in 1539 7

(A) Sher Shah (B) Bahadur Shah (C) Rana Sanga (D) None of these
1539 T < <R wrer H forea gl = wufema foman e 2

(A) TR (B) WEREEA  (C) TWMEMA (D) THEHE AL

In which year did the East India Company establish a factory in Bengal ?

fora ad 2 3fem e 3 srer § U Seed wnfua & ot 2

(A) 1650 (B) 1651 (C) 1652 (D) 1649
Who was the founder of the Kuka movement ?

(A) Balak Singh (B) Inayat Ali

(C) Bhagat Jawahar Mal (D) Abdul Wahab

T ST T HEATT I o ?

(A) =T (B) M el

(C) W Sreet Hel (D) 37egel 9gm=

In 1908, Bal Gangadhar Tilak was imprisoned for six years and was sent to
(A) NainiJail (B) Yeravadajail(C) Mandalay (D) Singapore
1908  wre Timur foreres i : T 1 FHTETE §A7 3R I WA fen T Al

(A) Fdmd (B) hvmgdEH (C) Wi H (D) fmgeH

At the northern most point of India, the rays of the sun are always

(A) Vertical (B) Oblique (C) Direct (D) None of these
R % Iead W H g1 ﬁ?ﬁ FHI ISl 8

(A) FHE (B) fawedh (C) el (D) 38 A s T
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129.

130.

131.

132.

133.

134.

135.

Patkai Bum and Dapha Bum are the important ranges of the

(A) Lesser Himalaya (B) Aravalli
(C) Shiwalik ot (D) Purvanchal
g1 g4 TEwa ]
(A) %ﬁ fewera <6t (B) et i
(C) firarfes & (D) yatea it
The Indo — Gangetic plains of Indian sub-continent are examples of
(A) depositional plains (B) delta plains
(C) crosional plains (D) structural plains
WITA T IUHETEM & ey ~vim & He I &
(A) fH&ftd tem & (B) SearfgH &
(C) 3T A + (D) HeaaTens Aem F
Which of the following rivers makes an estuary ?
(A) Krishna (B) Mahanadi
g,g{ Godavari (D) Bhagirathi — Hooghly
1 Hl 7] T Y w2

(A) Fom (B) wErel (C) et (D) wrifiefi-gret

Winter Rainfall in Tamil Nadu is due to

(A) retreating monsoons (B) temperate cyclones

(C) trade winds (D) north — south monscons
qafHerTs B Yaehreli= a6l =1 w1 2

(A) Fadh amgm (B) i srshema

(C) =Tt gamd (D) IT-Tf&roft wrrga

Which of the following is the most important oil-bearing state of India ?
g&ﬁl{gjasthan (B) Assam (C) Maharashtra (D) Bihar

I H1 WRA 1G98 Hgwaqul e 9T T 2

(A) Toe™  (B) 3w (C) wemTy (D) forzm
Kodarma in Jharkhand is famous for
(A) cement factories (B) mica mining
(C) leather works (D) None of these
IETE H Hiew wiig
(A) HE= HREHF F fag (B) 315 @ = fou
(C) =ms 3w & ferg (D) ¥ & %18 7

Most of India’s cultivated land is under

A; shifting cultivation B) sedentary cultivation
2C tribal cultivation % 3 dry zone cultivation
TCR <51 R N
(A) =IHTah @l & 3t (B) ¥HHeg Ff % s
(C) anfeardt &y % arefim (D) I S H & Aefiq
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136. Which of the following ports is not situated on the Western Coast ?
(A) Tuticorin (B) Kochi
(C) New Mangalore (D) Mumbai
a6 B %t seomg ufverdt ae W arafea T R 2

(A) TR (B) =ifw (C) gH™R (D) =8

137. Sea weeds are important source of
(A) iron (B) chlorine (C) bromine (D) iodine

(A) WiEH (B) ¥R ®$  (C) #HdHH (D) ITEH %

138. The Jarawas are tribes living in

(A) Madhya Pradesh (B) Sikkim
(C) Arunachal Pradesh (D) Little Andaman
ST Jnfeardt § S e w &
(A) T TTH (B) Firfaewm
(C) 3uT=d Weu o (D) Tofewt sremm 4
139. The Prime Meridian passes through
(A) Paris (B) Greenwich (C) New York (D) Delhi
1=

(A) Ymd (B) Wfrwd (C) =EisE (D) fe=hid

140. Which strait connects Red Sea and Indian Ocean ?

(A) Bab-el-Mandcb (B) Hormuz

(C) Malacca (D) None of these
H | AA-GG S T G 3R fag e R 6t Sigar 8 2
(A) 9E-3EA-TTCE (B) Bqw

(C) Wi (D) ST 3 HIE T8

141. The dry wind ‘Santa Ana’ blows in
(A) Siberia (B) Argentina (C) Switzerland (D) California
I B4 I AT 98T 3
(A) gEEf@ s (B) aWifenH (C) Wieoneis® (D) Shierwi-ar 5

142. ‘The Federal System with strong centre’ has been borrowed by the Indian
Constitution from

(A) USA (B) Canada

(C) United Kingdom (D) France

“TETeR 5 3 QY TEY Tonel’ NI o dfaar # sfien e mn R
(A) USA® (B) FAI=Td (C) UKH (D) wEg
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143.

144,

145.

146.

147,

148.

149.

Procedure for creation of Legislative Council in states has been described in
which Article of the Indian Constitution ?

T 1 Foyr g 36 e < S ST o e 3 R argeae  sreniia @ 2

(A) 69 (B) 169 (C) 269 (D) 369
To whom is the Council of Ministers responsible ?

(A) Parliament (B) The President of India
(C) Speaker of Lok Sabha (D) None of these

vt uftag e wfa samecE 2 7

(A) TG (B) & & Tgafd

(C) TIHEN & eI (D) 3 & FE T

Who decides whether a bill is a Money Bill or not ?

(A) Speaker of Lok Sabha (B) The President

(C) The Prime Minister (D) None of these

s fatraes v fadges @ Jreran 7& g S Fofia w2 2

(A) wrREMT A (B) Tgufa

(C) werR (D) &8 & g 7

Which one of the following is not the main jurisdiction of the High Court of
a state ?

(A) Advisory Jurisdiction (B) Original Junisdiction
(C) Supervisory Junisdiction (D) Appellate Jurisdiction
o= 7 & ;o et T o S ARITET 1 R AT TE B ?

(A) TUwHErE SRR (B) H& SETUSR

(C) vt aafisr (D) ardiefia S

The constitutional status has been given to panchayats under which Article
of the Indian Constitution ?

e wfay o form 3= & JTwaia TEal Sl SaTie gt fean T g ?
(A) 241 (B) 341 (C) 343 (D) 243

Fiscal Responsibility and Budget Management Act was enacted in India in
the year

RIS ITgIaE ae s wada arftfam swma 5 i foean mn on a9

(A) 2000 (B) 2001 (C) 2002 (D) 2003

Which of the following Constitutional Amendment Acts was said to be a
‘Mini Constitution’ ?

(A) 42 (B) 44" (C) 527 (D) 73
ﬁqﬁawﬁﬁmﬁsﬁmﬁmm Tt gfaam’ FarsTa 8 2
(A) 42ai (B) 44ai (C) 52ai (D) 7391
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150.

151.

152.

153.

154.

155.

156.

157.

English 1s the official language of which one of the following Indian states ?
(A) Nagaland (B) Tripura (C)_ Assam (D) Manipur
o= Tope el T < WTST SIS 8 2

(A) TS (B) Prgu (C) @™ (D) =foTgR

The weight of an object would be minimum when it is placed at
(A) north pole (B) south pole

(C) equator (D) the centre of the earth
Tepet T 1 9T 69 B U 8 SO | 3 1@ I 8

(A) SEIgA® (B) SRoiga® (C) sweat@ ™ (D) Jol & %5 W

Which of the following is preferred for manufacturing a spring ?

%')na?ir;;?m %;i%—';q(g'):{ ggpé (C) Steel 3y (D) Iron

(A) daw (B) qm (C) é’m (D) w8
A concave lens is also known as
(A) Converging lens (B) Diverging lens
(C) Simple lens (D) None of these
Ueh 3Tac @ 1 0= A1 F ¥ ST
(A) FPmRaw (B) smEdise  (C) wumued (D) 398 & w8 78
Which of the following is called *morning star’ ?
%1:)' Jupiter (B) Mars (C) Venus (D) Mercury
39 R i 1 TR T e 2
(A) gemia  (B) W (C) (D) v
The most abundant metal in the earth’s crust is
(A) Gold (B) Silver (C) Copper (D) Aluminium
YU} T Haiiies Sgeran o qrEft ST arelt 91y 8
(A) =i (B) wm (C) am (D) weghtEm
Glass 15 best described as a/an
(A) Solid (B) Liquid
(C) Super-cooled llqund (D) Occlusion compound
IE—‘n:l o 9 H ITH ARG fohaT e &
(A) 3 (B) @ (C) aifa shifta @ (D) eifremor s
Cellulose is a
A) Pr%tein (B) Fat (C) Hormone (D) None of these
Th
(A) TN (B) =& (C) &M (D) 8 T =i T
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158. Vector of kala-azar disease 1s
(A) Dragonfly (B) Mosquito (C) Sand fly (D) House fly
SHTETT ST SHTA 1 918 2
(A) $ETE  (B) WX (C) Hewd (D) TISH weims

159. Apiculture is associated with
(A) Honey bee %B) Fish (C) Silkworm (D) Lac-insects
¢ e {E Y
(A) AyAeEi® (B) WeH® (C) tm#RE (D) &rE A= d

160. The organ affected by diphtheria is
A) Kidney (B) Lung (C) Heart (D) Throat
%wﬁﬁm | wTferd

3R
(A) % (B) e (C) & (D) it
161, ‘3713-3113 TG T gara 1 1% §
(A) Td & (B) o9 BT
(C) e — & HT AT (D) %E —Fe H U
162. ‘Fre’ @ gura 2
(A) wgshie (B) ¥=ityE  (C) = (D) wcged

163. ‘Tiircrent’ @1 Rt 2
(A) 3TTHHI (B) 39Tt (C) IHT (D) IFATHAT

164. ‘St sifes sy = F 8 6 forg o g R

(A) vEqH (B) 3fest (C) wa¥i (D) =T
165. doad I &

(A) T (B) T (C) ameH (D) ¥red
166. < V= 8

(A) AWl (B) Wharl (C) $hara (D) Ushamr
167. ‘T’ 1 TS &

(A) eE (B) @ (C) @ (D) @R
168. =i wee B

(A) et (B) ufa= (C) Tiramerm (D) e
169. ‘%’ =i 1 IHRVI R .

(A) 308 (B) %3 (C) @ (D) T
170. ‘T’ 1 WigaE! 2 i

(A) ¥ (B) ¥ (C) foFm (D) g
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